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There are 6 (six) questions. Answer all 6 (six) questions. The symbols have their usual meanings.
Marks of each question and corresponding COs and POs are written in the brackets. Programmable
calculators are not allowed. Do not write on this question paper. Assume suitable values for any
missing data
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A3 = @ induction motor is connected 10 a 3 — g power distribution system. The motor s fed (15
by a balanced wye-connected voltage source with V3, = 10.0° and has a balanced load with  (PO)
per-phase impedance of Z, = 2y3£15°. Analyze this system and fill out the contents of (co1)
Table 3.
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Phasor diagram of all voltage and current Signals:

4 The following three parallel-connected three-phase loads are fed by a balanced 3-  (10)
‘Wye-connected source with a line voltage of 13.8 kV/ (Po1)
Load 1+ 250 k¥4, 0.80 pf (lagging) (con)
Load 2: 300 k¥4, 0.95 pf (lcading)
Load 3: 450 kVA, unity pf
Caleulatethe line current and power factor of the source (assume the lne impedance is zero),

5. Giventhat v(t) = 5 cos(wt) and i(£) = 4 cos(wt — 30°) (10)
i) Sketch for v(t) and instantaneous power p(£) on a eraph paper. (Po1)
i) Dissect different regions of p(£) and interpret thir existences. (co1)

6 Find the value of th parallel capacitance/inductance neede to improve the power factor (pf)  (05)
ofa 130 kVAR, 0.85 pf (Ieading) load to unity. The supply voltage s X kV. (POT)

(co1)



